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Predicting Single Replacement Reactions

Which of the following equations represents a single replacement reaction? Circle your choice.
a. Be(OH), > BeO(s) + COi(g)

®) Na(s) + HCI(l) > Hafg) + NaCl(aq)
C. Hy(g)+ Cly(g) = 2 HCl (1)

d. AgNOs(ag) + Ki(aq) > Agi(s) + KNOs(aq) 0ok -H,)e [
Use the activity series of Metals to decide if a reaction will occur. * , g@ ? O(_,‘h\/ng
. Al(s) + NiSOs(aq) >QReaction will occup/ No reaction (circle your choice) nes.he S'VW Jq}vnc
b. Zn(s) + MgBra(aq) -> Reaction will occur /(Mo reaction(circle your choice) Qleﬂ')en-}- must be

c. Li(s) + H0(l) > &eaction willoccdt/ No reaction {circle your choice) Moy, teachwe than
d. Cu(s) + Mg(NOs)(aq) > Reaction will occur /Wa reactioBcircle your choice) e

e +
e. Mg(s) + AgNOs(aq) > ®eaction will o/ No reaction (circle your choice) %Yy?l@ﬂﬁf‘d L

Ly
. Multiple Choice: For each of the following single replacement reactions, complete the equation by NnoY = n:S
circling the letter that identifies the correct mjssing p_rgduct(s).

[3]

rReachsm.

*  Mg(s) + Zn(SOa)(aq) >  zn(s) + Mg SOy

a. Zn(S0a.) b. Mg + S04 " © Mg(S04) d. Mg(S0a), £ must knew)
e Li(s) + Ca(OH))aq) > Ca(s) + L1 OH

a. Li(OH); (® Li(OH) c. (OH){g, -\ d.ca(oH), Crerges. Re',’}e“'ber
® K(s) + 4e¢h [written as HOH] > + oH catvo y QMo -

a. H and KOH b.H; and KO (©H; andKOH  d. KH and HO Charge Cha
* Ch(g) + NaBrlag) > __ B, + NaCl(ag) O You MUSt

a. Br (® B c.Br® d. CIBr CANSS - CrOSS.

. Each reaction will occur. Predict products with correct formulas for the following single replacement
reactions.
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a. 2 Alls) +_ 3 rech > _2_ A\ Cl3 + 3 fe (<) # o not can'y

Subsor S excpt
b. 2 lits) + % mﬂ&\—)\é Z LioH +/Hzﬁ<3) for polaternic 10aS

cefrrivie v

o Mifs)—+ AgNOstag—> IbSups oy
3 iy ksl > O(L&S-—CVDSS\Y\&
o U +——5—=*
-l
e. Bw@ﬂ > ZNabBr + 15
12 -
f. G

— B > Zn Cl, 4 M,

\ chve
g _kug) > _NO Rreaction (Chlonne s less tea )

‘an Cluorine

Predicating Combustion Reactions

Always a hydrocarbon (CH compound) + OZ(Q) > CO?. 65) + HZO (-9>

20 > _Co, +2H,0

1. CH«(g) +

N

2 CiHio(g) + l302(g) > __%. CO?. + _!_(_)_HZO



